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	 ا���������
           ا
  I 	�اة ا��رة:              

 1)  �����ت ��اة ا
�رة:                                                                                

 
�#��ي �!  17 ��و���� و18 ����و��  .    ��
lC35 : ر�% ��اة ذرة ا
�!�را

17                           �'�ل:     
                    2)ا�
���ات :   

��و��ت-,!+ ا*(��
��2د ��0. �. ا
/�و����ت و�. ا %03�� ��
. ا
��-2ة  �9 ا
08%-�ء ا
�ر-5 �!  �5��36 ا
��ى ا  
.Z  5�#:
A و�8; �2د ا 
<� �8; �2د ا
��!5 أي أن ��اة ��-2ة 5�0��  

O16 ��-2ة ا?�ى.
8 H3 ��-2ة ا?�ى. و

1 H2 ��-2ة ا?�ى.   و
1 H1 ��-2ة .     

1  : @'39            
�A�030�
��8; ا
���B ا ��Cا +!�� �
���0D ا
��-2ة و . A   �0D����2د ��0. �. ا
��-�ت، و  %03��
� آF ��-2ة ��
�� و

��C F�� �� 350 26��Bا آLM9 �0�0/N �0A�030 9<��ك J�992( أن ه��ك �M3

2ى �8; ا
���B أ�����0R-2ة N/50�0 �9 ا 
.ا
�50A�030ا
��A�Sا
��A�030 �2ة ��-2ات -,!+ �!0<� ا*(   

  : �A�030آ �B��
50A�030�
                   3) ا
��A�S ا
�B��

�8; ا �3���.9<� إذن  A  �A�030آ�B���A�S� 
 ��
��2د آ�!�<�� �8; ا
�2د ا
�ري و�U!�V <ه� ا
��دات ا  

�>���و������?�@ف �2د  U!�V� �>��
 �A�030�
.ا  
ا
��-��0م (����و��ت2). H3

1 H2 ا
2و��-�م (��1��ون) 
1 H1 ا
/�و��0م(0 ����ون و) 

1   ��
  �'�ل:	���� �
:ا����رو���  

5�0/,
�Z0R .� U!�V و�9ر�<� �9 ا �A�S�
:آ�3 أن ا  
        �'�ل: 
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8  �0S�
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0 ا
,/50�0 ا
��9رة
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��و-5: 
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5 ا@�
�0���0D �2د ا
��!5 و9+ اD�-       : r 
!��اة ��F آ�وي ����<�             
  Kgm 27107,1 −×= 
��-5        و 50/-�M�
mro        : ا
��!5 ا
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!��اة  5036#

!��!5 ا 50/-�M�
���ن ا
530M ا \
��    و

�. ا
�3دة ا
��و-5 31cm 38  و��_ -�^[ أن ا
�3دة ا
��و-5 �2-2ة ا
�'�C،59ن آ�!5  /10.2 cmtonne=ρ  
�`�.   �!�0ن N.   200وي     

 II-ا����ار و��م ا����ار ا�
�اة :
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   :50V-ر�� 5#3
 (1          

�#�ث �91896 *�5    c����0ر-F ا
�:�ط ا������ ا
,/0R 592d ��0��3 آ�ن -�Mم   �A�-%08

( ا��
 م اآ�:U ا
�/�Z إ����� 
�درا �!  ا
��0jc �!  ا5��C ا
`0�50 ا
#2-'5 ا�آ�:�ف 2�iاك gRh Z0R أن ا�@ح اCورا��0م 

5#08 �9���Jا509d  !�.  
 :U-���(2           

 �A�M!� ��0/N ل�#��0 ���kM �9 ا
%�.(ا
�:�ط ا������ J( اة�� _
��#�ل   ?@ ،�0J اة��  
�`��Mة  إ
+A�

2ة أآ'� ا*��Mارا �l ا�/��ث د
5M0 أو �2ة د���.  

),( ��D0* L,Vي:  ZN L,V3
          3)ا
��m ا
��ى g8�#� 2����m ا
��ى ��#�ل �!�0A�M إ
  ��ى أ?�ى  �3�0���8; ا
��آ�M�،k0ل أ�<� �`��Mة،   �3Aدا 

��'<� ������ت ، ��Mل أ�<��M`� �0Jة أو إ����50ا
�:�ط.  

 
 III) ا��,�+ت ا�
�و�# ا��*����# – ا)	' # ا&%$���#:   -/0.  ا�"! � 

      (Soddyن *�دي���
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!��-�ت .  �
�3o2دا��
وآ�
\ ا Z �#�ل ��و-� -�g8# �2د ا
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2ى ا ���3� �>S-،�A�M!��q�8 ��وي N/��0 و  50� +β    ا
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  ��اة ���
2ة XA
Z 50!dاة أ�� _
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�8*�8ر إ����� ا
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�:�ط ا������    
+β β− و α و 
5 آ/�0ة ،وه� -�اآk ا�C:,5 ا�����50�N 0`50 ذاتN��D��>ت آ�o�� .� رة�/�    

  .γ �/�Z إ���ع  �>�
5  إ�jر�N 2M8�9  رة�j2ة �9 إ
��3
���ن ا
��اة ا Z0R        
 : 5�:3
         3) ا
0B8!5 ا

��#�ل �2وره� إ
  ��اة .��#�ل ��اة �M�`� �0Jة إ
  ��اة ا?�ى �>�u9 ، ة�M`� �0J �0ة?Cا vه� qوإذا آ��
5�:� �0Jة و�M�`� اة��  !� FB#� أن  
�56 �. �8; ا
��اة  .أ?�ى ، وه��ا إ��
�`�3 ��36ع ا
��ى ا

 50!dC0!5 �:�5اB9.  

 IVا��
�/. ا&%$��-: 

���ن ا
�:�ط ا������))5�:3
�,�ر ا
�3دة ا (1              

5�0� �9 50M/�3
tN)( ا �#2ث �!�0A�M و�2ون */+ إ���رو-l^V �2د ا
��ى 50Aه�ة �:�ا�s ط ا�������:�
  ا

. t       #�,*ا� �
��د ا�
�ى ا�"�#��0 �   
t

Ot eNN .
)(

λ−= �
��

	 ا������ ا���

���Mن ا 5�:�       :  

. 0=t :  5S#!
�2د ��ى ا
�0�5ا
5�:3 ��2 ا ON            
( 1−s �'5 ا
�:�ط ا������: ��  '���2�<� �9 نوه� R5 وو�0�3

!�2Rات. ع.5 �03% ا
��-2ة ا)  λ   

          .   τ  .�%
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�0�5% وه� �� -���BM� F'3 �9 �2د ��ى ا
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��-2ة ��0�5 ا
23ة ا
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 ��3 ا
λ
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             4) �:�ط �0�5 �:�5:

:U-���                       أ) 
:�. ا
��ى ا
5�:3 ،ه��2د ا
��ىا
3�8��5 �9 و2Rة ا
%�. ، و���% إ
0_ ب )(tN    �:�ط �0�5 �#��ي �!  �2د

)(Bq 2�_ ه� ا
/��-F ا
�ي ���%إ
0_ بRوو  :
dt

dN
ta t )()( −= 50
��

5 ا@�
: و��,0_ ا )(ta  

       t
Ot eNN .

)(
λ−= ��3 أن       :   
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t
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O

t
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t
O

t NeN
dt
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−=−=−=−= −
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 t
Ot eNN .

)(
λ−=      @?  t     #�,� �
� #
)()( 	'�ط �� . tt Na λ−=           إذن          

   )2(   t
Ot eNa .

)( .. λλ −−=  26� m-���
��             :  

ONa .0 λ−=   : ��-2
            : ot = 5S#!
            إذن ��2 ا

 
t

ot eaa .
)( . λ−=   5
@�

\ ا���B/[ )2(                                             و:   

                        ب) أ�'!5 
�:�ط ��Bدر �:�5:
 ا
2B3ر ا
l:3 ا
�:�ط

7000Bq 70Kg_�!�ا�`�ن آ )`o  
2.1012Bq �0م��
�/
 �1Kg. ا

 


�:�ط ا������:     �� y-رc�
                5) ا

	 ا������ 
/�m ا
����d ا
5�:3 ، ا
�o�3دة �9 ا
�VBر أو�9 ا
��A��ت ا
03�5 ،�.   ا-�6د -�3.  ���
ا

y-رc�!

�0س �0�5 ��ه2ة �. �8; ا
,/�5 ، )أو آ503 ��دة (�M3/9ر�5 
�0س �:�ط .�2ة �M��0ت  l� 5�0� 5�0�
.� .�3��5�0�
   .)  ا��S ا
��3ر-.(.   �2M-� ��3 ا

   

   
     ا
��0o<�ت: 



 6 

 
 
 

e   تذكير:�Rل  ا
2ا
5اexponentiel50*Cنرمز إليها ب: 
ln :و���% 
<�ا اC?�0 ب  Le logarithme népérien �0/0�

2ا
5 ا
!��Jر-'( ا 50`��
ي        ه� ا
2ا
5 ا             

     xxf ln)(1 =− ⇐       xexf =)( ��-2
     :  
5/*�#
�cآ2 ��3 -!� ، ��*���3ل ا}
5 ا:  

=  )j o )j ln )j Scift D|ر   ا%
L �!  ا 10 =e  
=  )j 1)j ln )j Scift 718,21   ا|LD �!  ا
%ر =e  
=  )j 10)j ln )j Scift 2210   ا|LD �!  ا
%ر =e  

3,210ln = �cآ2 ��3 -!�:  
  ln DE رF7 ا�*� �GHا DE ���� �? Scift  DE  ln 1ln       ?� أ�8 ذ�J اGH� �*7 ا�Fر ؟     =e :O�,P ?� آ�ن     

. 1ln =e ( DE = 7*� 8�,�95 1e  D/ا�� S$0Pأي  ( 1 وأ  
 

   xe x =ln  �
��� #?�� #V�;و                                                       : 5ln 5 =e : �ن ;
XV ا� ���# WPآ� ?� آ  
   xe x =ln  �
��� #?�� #V�;و                                                                                               : 5)5(ln =e  

( ) xxff =− )(1       وذ� J	�YP �� آ�ن                                       
                               

  
  
 
  


